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20d Xa0000 2.0045139 10°°
20 X. 2.0342146 10°°
20a Yzoooo 4.3010300
20b be 6781.2528
20c §2 0.057072991
920000 225.87407 (TI)
21 9 218.59021 (TC)
10000 237.13204
HIC 11.257977
0.6 HIC 7.0666924
9.+0.6 HIC 225.65691 AL FA)
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TI(HIC) : 225.3(11.3)
212 5HA =218.6
F(n, 0)=0.025(1. 30)

Fo=4.2

() =8.4(2)

&E =0.0152

ez G A2t £ 2H(log)

240 8316.0 0.222

260 2748.7 0.0363

280 912.0 0.0646

BE 2o (8) 0.107
=25 240

Alzt

1044.0 1044.0 3144.0 3144.0 4548.0 4548.0 4548.0 5136.0 ©6888.0 6888.0 8316.0
25 260

Alzt

1368.0 1368.0 1368.0 1896.0 2136.0 2136.0 2136.0 2136.0 2136.0 2832.0 2832.0
=25 280

Al

336.0 336.0 432.0 432.0 624.0 624.0 720.0 720.0 720.0 816.0 912.0
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BaM C WP, Y F EZO fractiles

¥ Cl
¥ C2
4 F
P 0.050 0.010 0.005 0.001 fa 1 2 3
fa

1 3.8 6.6 7.9 10.8 12 4.8 39 3.5 33 3.1

2 6.0 92 10.6 13.8 13 4.7 3.8 34 32 3.0

3 7.8 11.3 12.8 16.3 | 14 4.6 3.7 33 3.1 3.0

4 9.5 13.3 14.9 18.5 15 4.5 3.7 33 3.1 29

5 11.1 15.1 16.7 20.5 16 4.5 3.6 32 3.0 29

6 12.6 16.8 18.5 22.5 17 4.5 3.6 32 3.0 2.8
18 44 3.6 32 29 2.8
19 4.4 35 3.1 29 2.7
20 44 35 3.1 29 2.7
25 42 3.4 3.0 2.8 2.6
30 42 33 29 2.7 2.5
40 4.1 32 2.8 2.6 2.5
50 4.0 32 2.8 2.6 24
100 39 3.1 2.7 2.5 2.3
500 39 3.0 2.6 2.4 22

# C3

f t

1 6.31

2 2.92

3 2.35

4 2.13

5 2.02

6 1.94

7 1.90

8 1.86

9 1.83

10 1.81

11 1.80

12 1.78

13 1.77

14 1.76

15 1.75

16 1.75

17 1.74

18 1.73

19 1.73

20 1.73

25 1.71

30 1.70

40 1.68

50 1.68

100 1.66

500 1.65
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H
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e

10 SCREEN O:CLS:PRINT TAB(35) *IEC 216-3-3*
20 PRINT:PRINT"This program is for analysis of thermal endurance data obtained

by cyclic*

30 PRINT"proof tests up to the median failure. The sizes of the temperature gr
ups*

40 PRINT*must be the same, but the case of a failure in the first cycle, which
must*

50 PRINT*'be omitted from the calculations, is catered for.*

60 DATA 640,200

70 KEY OFF:READ WD%, HT%

80 PRINT:PRINT:PRINT"Input may be from an existing disc file (D) or by direct
entry from the*

90 PRINT"kevboard (K). Please press either K or D.*

100 DEFDBL G,H,8,T.X.Y,P:DEFINT I-N

110 DEF FNTI (TIME)=FNTEMPERATURE (FNX2 (LOG (TIME) /LOG(10)))

120 DEF FNYC({X)=A#+B#*X-FNST{M*K)} *SQR(S* (1+K*{(X-SX/K)"2/SB)*E#)

130 DEF FNX2(Y)=(Y-A#%)/B#

140 DEF FNX1 (TEMPERATURE) =1/ {TEMPERATURE+TO)

150 DEF FNTEMPERATURE(X)=1/X-TC

160 DEF FNSR(TIME)=SQR(S* (BR#/B#+ (FNX2 (LOG (TIME) /LOG(10))~SX/K)"~2/(SB/K))*E#)

170 DEF FNXCI{TIME)=SX/K+{LOG(TIME}/LOG{10}-SY/K) /BR#+FNST{(N) *FNSR({TIME) /BR#

180 DEF FNST(N)=1.6282+.0001688*(N-2)+1.8481/(N-2)

190 DEF FNY({X)=A#+B#*X

200 DEF FNFO(N1,N2)=1.9993/N1+10.468/N2+1.8718

210 DEF FNUS (AS$)=CHRS$ (ASC(AS) AND 223)

220 DEF FNAS(AS)=CHRS({{{AS$S=CHRS${0)+CHRS(72)) AND 30) OR ((AS$=CHRS{0)+CHRS${80})

AND 31) OR {((AS=CHRS(0)}+CHRS$(77)) AND 28} OR ({AS$=CHRS(0)+CHRS$(75)}) AND 29)
OR (A$=CHR${13)) AND 13)
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230

240
250
260
270
280
290
300

310
320
330

340
350
360
370
380
390
400
410
420
430
440
450
460
470
480
490
500
510
520
530
540
550
560
570
580
590
600
610

620
630
640
650
660
670
680
690
700
710
720
730
740
750
760
770
780
790
800

ENTRYS$="":WHILE ENTRYS<>"D" AND ENTRYS<>*"K":ENTRYS$="*:WHILE ENTRYS$="":ENTRYS
=INKEYS$ :WEND: ENTRYS=FNUS (ENTRYS )} : WEND

IF ENTRYS$="D" THEN 1890

‘Keyboard entry
’*t*'*!************t****t***t*‘kt*t*ﬁt*t****t*********
CLS:INPUT"Enter the required number of test temperatures *,K
INPUT"Enter the number of specimens in a group ",L

IF L MOD 2 THEN M= (L+1)/2 ELSE M=L/2+1

DIM N(K), TEMPERATURE(K), X(K), S1(K), SY({(K), SSY(K), TIME(K,M), Y(K,M),
B#(5),N1(3),GA(3),GB(3),GM(3),GE(3),MEAN# (K)

FOR I=1 TO K

PRINT"Enter temperature®;I;:INPUT* ", TEMPERATURE(I)
PRINT*First cycle failure Y/N?*;:AS="*":WHILE AS<>"Y*" AND AS<>"N":AS="":WHILE
AS="":AS=INKEYS:WEND:AS=FNUS (AS) : WEND

PRINT * *;AS:IF AS="Y" THEN N(I)=L-1 ELSE N(I)=L

FOR J=1 TO M

PRINT"Enter time to failure for sample*;J;*; if same as last, press RETURN*;
INPUT"*,TIME(I,J):1IF TIME(I,J)=0 THEN TIME(I,J)=TIME(I,J-1)
NEXT :NEXT

INPUT"Enter the filename for data saving *,FILENAMES

‘Data review for editing
l************ttt*****i*t**!**tttitt**tt**t*!tt‘kt’k*tr

FOR I=1 TO K

IF N(I)<L THEN FIRSTS$=" Y* ELSE FIRSTS$=* N*
CLS:PRINT"Temperature® ;TAB(26) TEMPERATURE(I)

PRINT*First cycle failure*;TAB(20) FIRSTS

PRINT*Times"; :FOR J=1 TO M

IF J>8 THEN X=41:Y=J-6 ELSE X=26:Y=J+2

LOCATE Y,X:PRINT TIME(I,J)

NEXT

LOCATE 22,1:PRINT*Do you wish to correct any value, Y/N 2*
AS$="*:WHILE AS="":AS=INKEYS:WEND:AS=FNUS$ (AS$) :IF AS$="Y* THEN 1650
NEXT

CLS

‘Primary calculation

(RS R AL EEEE R EEEE SRR R R REEREEREEEEEEIEIE I IIIEI I I ILIL J J GG ageagagvgn

RESTORE 3410

M1=0:WHILE M1<>M:READ M1:IF Ml1<>M THEN READ N1,2,2,Z,Z:WEND
FOR I=1 TO 3:READ N1(I),GA(I),GB(I),GM(I),GE(I)

READ J

NEXT

PRINT"Calculating *;FILENAMES:T0=273:N=K:FOR I=1 TO K:X(I)=FNX1 (TEMPERATURE
(I))

FOR J=1 TO M:Y(I,J)=LOG(TIME(I,J))/LOG(10)

NEXT:NEXT

IF L MOD 2 THEN E#=GE(3) ELSE E#=GE(2)

FOR I=1 TO K

FOR J=1 TO 3

IF N1(J)=N(I) THEN A#=GA(J):B#=GB(J) :M#=GM (J)

NEXT

FOR J=1 TO M-1
SY(I)=SY(I)+Y(I,J):SSY(I)=SSY(I)+(Y(I,M)-Y(I,J))"2

NEXT

MEAN# (I)=(1-M#)*Y (I, M)+M#*SY(I)/ (M-1)
S1(I)=A#*SSY(I)+B#*((M-1)*Y(I,M)-SY(I))"2

SX=8X+X(I) :SSX=SSX+X(I1)"2:SPXY=SPXY+X(I)*MEAN# (1)
SY=SY+MEAN# (I) : SSY=SSY+MEAN# (I)"2

NEXT

B#=(SPXY-SY*SX/K)/ (SSX-SX"2/K)

A#=(SY-B#*SX) /K

M1#=CDBL (M)

FOR I=1 TO K
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810
820
830
840
850
860
870
880
890
900
910
920
930
940
950
960
970
980
990
1000
1010
1020
1030
1040
1050
1060
1070
1080
1090
1100
1110
1120
1130
1140
1150
1160
1170
1180
1190
1200
1260
1210
1220

1230

1240
1250
1260
1270

TION:

1280

1290

1300
1310

1320
1330
1340
1350

S1=81+81(1)
G=G+1/M1#
H=H+ (M1#-1)*LOG(S1{I))
NEXT

S1=81/K
CHI.SQUARED#:(K*(M—l)*LOG(Sl)'H)/(1+(G—1/K/(M—1))/3/(K—1))
GOSUB 2690
SZ:((SSY‘SY*2/K)—B#*(SPXY-SX*SY/K})/E#/(K*2):F:SZfSl:FO:FNFO(K—2,M*K-K)
SB=8SSX-8X"2/N

IF F>F0 THEN FLAG{3)=-1:F1=F/F0 ELSE FLAG(3)=0:F1=1
S=E#*((M-1)*K*S1*F1+(K-2)*S2)/ (M*K-2)
BR#=B#-E#*FNST (M*K)"2*S/B#/SB
TIME=20000
HIGH.X=0:FOR I=1 TO K

IF X{I)>HIGH.X THEN HIGH.X=X(I):LOWEST=1
NEXT
GOSUB 1080 ’'for flag setting
Y1=5:Y2=1
X1=FNX1(10*INT(TI/10)-20):X2=X1-.0008

SCALESTART=CINT (10*INT(TI/10)-10)
SCALE.END=CINT{(10* { INT(FNTEMPERATURE (X2)/10)})

IF HIC>15 THEN INTERVAL=20 ELSE INTERVAL=10

GOSUB 1200 ‘short report

GOTO 2420 ’for menu of further actions

END

‘Statistical tests
’*tt******f*ti***t******t**t*’****t**i’**‘k***t***t**
TI=FNTI (TIME) : TC=FNTEMPERATURE ( FNXC (TIME) )
HIC=FNTI(TIME/2)-FNTI{TIME)
EXTRAPOLATION=FNTEMPERATURE (HIGH.X)-TI

IF EXTRAPOLATION>25 THEN FLAG{1)=-1 ELSE FLAG{1)=0
LONGEST .MEAN.TIME=10" (MEAN# (LOWEST) )

IF LONGEST.MEAN.TIME<TIME/4 THEN FLAG(2)=-1 ELSE FLAG(2)=0
DISPERSION=(TI~TC)/HIC

IF DISPERSION>1.6 THEN FLAG({5)=-1 ELSE FLAG({5)=0

IF DISPERSION>.6 THEN FLAG(4)=-1 ELSE FLAG{4)=0

RETURN

‘report results according to statistical tests

SRR R EEEE R RS RS SRR R R R R R R R R ERE R R BRI R R R R I I I IR I I I N I O 3P
CLS:IF FLAG(1) OR FLAG(2) OR FLAG(5) OR (FLAG(3) AND FLAG(4)) THEN GOSUB
:RETURN

IF FLAG(3) THEN PRINT"Minor non-linearity®:PRINT

IF FLAG({4) THEN PRINT"Slightly excessive dispersion, correced*:PRINT:RESULT
=TC+.6*HIC ELSE RESULT=TI

PRINT*TI (HIC) : *;:PRINT USING "###.4#";RESULT; :PRINT" (*; : PRINT USING*##4. #"
sHIC; : PRINT*®) *:PRINT:PRINT

PRINT"Confidence limit = *;:PRINT USING *"###.#";TC

RETURN

PRINT*Full TI cannot be reported.®:PRINT

IF FLAG(1) THEN PRINT*Extrapolation = *;:PRINT USING "##.#*;EXTRAPOLA-
PRINT

IF FLAG(2) THEN PRINT"Longest mean time to end point =*;:PRINT USING "“###4"
; LONGEST.MEAN.TIME: PRINT

IF FLAG(3) THEN PRINT*Failed F-test : F = *;:PRINT USING "####.#";F; :PRINT"
, FO = ";:PRINT USING *“###.#*;F0:PRINT

IF FLAG(5) THEN PRINT"Excessive dispersion.":PRINT

PRINT:PRINT*"TI = *;:PRINT USING"##4# #*;TI:PRINT*HIC = *;:PRINT USING “##. 4"
;HIC

'RETURN

‘graphics - thermal endurance graph

B RS S SRS SRR R SRR SR SRR R AR LRSS R RS SRS R RS R SR SN SR

SCREEN 2:XRANGE=X1-X2:YRANGE=Y2-Y1



1360
1370
1380
1390
1400

1410
1420
1430
1440
1450
1460
1470
1480
1490
1500
1510
1520
1530
1540
1550
1560
1570
1580
1590
1600
1610
1620
1630
1640
1650

1660
1670
1680
1690
1700
1710
1720
1730
1740
1750
1760
1770
1780
1790
1800
1810
1820
1830
1840
1850
1860
1870
1880
1890
1900
1910

1920
1930
1940

LOCATE 1,1,0:CLS:VIEW(WD%/100,HT%/100)- (WD%*.99,HT%$*.99).,0,1
WINDOW (X2,Y1)-(X1,Y2)

FOR TEMPERATURE$=SCALESTART TO SCALE.END STEP INTERVAL
X=X1+X2-FNX1 (TEMPERATURE%)

IF TEMPERATURE% MOD 50=0 AND X-X2>XRANGE/40 THEN LOCATE 24, (X-X2)/XRANGE*80
-1:IF X1-X>XRANGE/20 THEN PRINT TEMPERATURE$;

IF TEMPERATURE% MOD 50=0 THEN Z=YRANGE/25 ELSE Z=YRANGE/S0
LINE(X,Y2-Z)-STEP(0,Z) :LINE(X,Y1)-STEP(0,2)

NEXT

FOR Y%=2 TO 4
LINE(X2,Y%)-STEP (XRANGE/50,0) :LINE(X1, Y%) -STEP (-XRANGE/50,0)
LOCATE (5-Y%)*6+1,3:PRINT 10°Y%;

NEXT

LINE(X2,FNY (X1))-(X1,FNY(X2})

INC!=XRANGE/50

FOR I=0 TO 49:X=X2+I*INC!
LINE(X1+X2-X,FNYC(X) )~ (X1+4X2~- (X+INC!), FNYC(X+INC!)),,,&HFOOF
NEXT

FOR I=1 TO K

CIRCLE(X1+X2-X(I),MEAN# (1)) ,XRANGE/250

NEXT

LOCATE 3,40:PRINT"Press any key for individual points®:WHILE INKEYS="":WEND
LOCATE 3,40:PRINT*" .

FOR 1I=1 TO K:FOR J=1 TO M

CIRCLE (X1+X2-X(I),Y(I,J)),XRANGE/640

NEXT :NEXT

LOCATE 3,40

RETURN 2420

‘input data editing

I R R R R R R R R R R R R R R 22 SR 2 R R R RS R R R R R R R R R R RS NS E

LOCATE 22,1:PRINT *Move cursor to value to be changed and press return*:LOC
ATE 1,18,1

J=0:A%="":WHILE AS$S<>CHRS$(13):AS$="":WHILE AS="":AS$=INKEYS:AS=FNAS (AS) : WEND
IF A$S=CHR$(30) THEN J=J-1 ELSE IF AS$=CHR$(31) THEN J=J+1

IF J<0 THEN J=0 ELSE IF J>M+1 THEN J=M+1

IF J<1C THEN X=25:Y=J+1 ELSE X=40:Y=J-7

LOCATE Y.,X

WEND: PRINT"***;

IF J<>1 THEN LOCATE 23,1:INPUT*Enter new value *;NEW.VALUE

IF J=0 THEN TEMPERATURE(I)=NEW.VALUE ELSE IF J>1 THEN TIME(I,J-1)=NEW.VALUE
IF J=1 THEN IF N(I)<L THEN N(I)=L ELSE N(I)=L-1

GOTO 430

‘record data to disc file
l***tt**t*t**'k****t***‘k*tt**t*'k***t‘tttt**rtt‘kt*t**t*

CLS:INPUT “Enter file name *,FILENAMES

OPEN "o*,1,FILENAMES

PRINT#1,K:PRINT#1,L

FOR I=1 TO K

PRINT#1, TEMPERATURE (I) : PRINT#1,N (1)

FOR J=1 TO M

PRINT#1,TIME(I,J)

NEXT:NEXT:CLOSE#1

RETURN 2420

‘recall data from disc file
l****************Qtt*t*t***t*****tt*tiitt‘ktttt****i*

CLS

INPUT"Enter file name *,FILENAMES

IF INSTR(FILENAMES,".*) THEN PRINT"Please use a file name without extension
" :GOTO 1900

OPEN *i*,1,FILENAMES

INPUT#1,K:INPUT#1,L

IF L MOD 2 THEN M=(L+1)/2 ELSE M=L/2+1
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1950

1960
1970
1980
1990
2000
2010
2020
2030
2040
2050
2060

2070

2080
2090
2100

2110
2120
2130
2140

2150
2160

2170

2180
2190
2200
2210

2220

2230

2240
2250

2260
2270
2280
2290
2300
2310
2320
2330
2340
2350
2360
2370

2380
2390
2400
2410
2420
2430

DIM N(K), TEMPERATURE(K), X(K), S1(K), SY(K), SSY(K), TIME(K,M), Y(K,M), B#
(5),N1(3),GA(3),GB(3),GM(3),GE(3),MEAN# (K)

FOR I=1 TO K

INPUT#1, TEMPERATURE (I) : INPUT#1,N(I)

FOR J=1 TO M

INPUT#1,TIME(I,J)

NEXT:NEXT:CLOSE#1

GOTO 420

'Temperature estimate

I R R R R R R R R R R EEE R RIS I I R R 2 Ik S I o

CLS

INPUT *"Enter the time value ", TIME

TEMP.EST=FNTI (TIME) : TEMP.CON=FNTEMPERATURE (FNXC (TIME) ) : HIC=FNTI (TIME/2) FNTI
(TIME)

PRINT:PRINT:PRINT"Temperature estimate”;TAB{25): PRINT USING "###.4";,TEMP.E
ST

PRINT*95% confidence limit*;TAB(25) :PRINT USING"###.#"; TEMP.CON
PRINT"Halving interval*;TAB(25) :PRINT USING"### . #*;HIC

PRINT:IF (TEMP.EST-TEMP.CON) >.6*HIC THEN PRINT"Extrapolation not fully jus
tified*

RETURN 2420

‘report to printer results according to statistical tests

R R R R R R R R R R R S R e R A R R E R R R R R R E R R R SRR R R R SRR R R R R R SR EEE RS EE S

IF FLAG(1l) OR FLAG(2) OR FLAG(5) OR (FLAG(3) AND FLAG(4)) THEN GOSUB 2200
RETURN

IF FLAG(3) THEN PRINT#2, "Minor non-linearity"*

IF FLAG(4) THEN PRINT#2,"Slightly excessive dispersion, corrected*:RESULT=
TC+.6*HIC ELSE RESULT=TI

PRINT#2,"TI ( HIC ) : *;:PRINT#2, USING "###.#";RESULT; : PRINT#2, " (*; : PRINT#
2, USING"##.4#";HIC; :PRINT#2,*)":PRINT#2,*"

PRINT#2, "Confidence limit = *;:PRINT#2, USING “###.#";TC

RETURN

PRINT#2,"Full TI cannot be reported.*

IF FLAG(1) THEN PRINT#2, "Extrapolation = *;:PRINT#2, USING "##.4#";EXTRAPOLA
TION

PRINT#2,"*:IF FLAG(2) THEN PRINT#2, "":PRINT#2, "Longest mean time to end poi
nt="; : PRIN

T#2, USING "####"; LONGEST.MEAN.TIME

IF FLAG(3) THEN PRINT#2,"*:PRINT#2, "Failed F-test : F = “;:PRINT#2, USING *
#4484 4" ;F; : PRINT#2, * , FO = *;:PRINT#2, USING *“###.#";FO

IF FLAG(5) THEN PRINT#2,"*:PRINT#2, "Excessive dispersion.”
PRINT#2,**:PRINT#2, ** :PRINT#2,*TI = *;:PRINT#2, USING"##4.#";TI:PRINT#2, "HI
C = *;:PRINT#2, USING "##.#";HIC

RETURN

‘Time estimate

’ttt‘kttk*‘ktttt**ttt*tttttttiQ*tt**ttt*t**

CLS

INPUT *Enter the temperature value * , TEMPERATURE

TIME.EST = CSNG (10~ (FNY (FNX1 (TEMPERATURE) ) })

TIME.CON = CSNG ({10~ (FNYC(FNX1 (TEMPERATURE))))

TEMP.CON = FNTEMPERATURE (FNXC (TIME.EST))

HIC=FNTI (TIME.EST/2)-TEMPERATURE

PRINT:PRINT *Time estimate ";TAB(25) :PRINT USING *"##.###~"~"*;TIME.EST
PRINT"95% confidence limit";TAB(25) :PRINT USING *"##.###~~~"*;TIME.CON
PRINT:PRINT:IF (TEMPERATURE-TEMP.CON)>.6*HIC THEN PRINT"Extrapolation not
fully justified*

RETURN 2420

‘menu of further procedures

’**i***tt*tt******i**tt‘ktttttttt**t*tt!!*tt**

LIN=1

PRINT"Press any key for menu*

WHILE INKEYS=**:WEND
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10
11
11
12
13
13

15
15
16
17
17
18
19
19
20
21
21
22
23
23
24
25
25
26
27
27
28
29
29
30
31
31

O© © O ® ® X I I I o=

— = e = e e e e e e e e e e e e e e e e e e
N OO O O W U i AR R WWWN NN R - o O

SEM E

U
0.14237402

0

0.24925991
0.12057511

0

0.2152022
0.10455472

0

0.18931561
9.228706E—2

0

0.16897949
8.259311E—2

0

0.15258385
7.474052E—2

0

0.139085629
6.82500019E—2
0

0.127779807
6.27963988E—2
0

0.118172726
5.81494476E—2
0

0.109908494
5.41425782E—2
0

0.102724091
5.06521117E—2
0
9.964209444E — 2

geiHst ololgle| 18

a
0.2441180925

0.250685932
0.199470571
0.204533441
0.208940612
0.172347188
0.17590051
0.179051341
0.151627832
0.154250858
0.156610476
0.135307112
0.137318956
0.139149625
0.122130237
0.123720203
0.125180504
0.111274798
0.112561882
0.113753115
0.102180512
0.103243093
0.104232886
9.44530651E—2
9.53447768E — 2
9.61799524E — 2
8.78071666E — 2
8.85659092E — 2
8.92798839E—2
8.20314575E—2
8.26847462E—2
8.33019925E—2
7.69660991E — 2

A

—

HI

g, 2o A

—2.00045322E—2
—1.68530354E—2
— 1.55839905E — 2
—1.35763751E—2
—1.16456143E—2
— 1.108669E — 2
—9.77439669E — 3
—8.50715308E—3
—8.25677607E—3
—7.35251258E—3
—6.47646027E—3
—6.36989298E—3
—5.72067003E—3
—5.09001812E—3
—5.05348094E—3
—4.57177272E—-3
—4.10278708E—3
—4.10102462E—3
—3.7338401E—3
—3.37566146E—3
—3.3910113E—3
—3.10475468E—3
—2.8250501E—3E
—2.84836965E—3
—2.62091053E—3
—2.39833079E—3
—2.42479697E—3
—2.24107889E—3
—2.0610683E—3
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KC 60216-3-2 : 2015-09-23

Guide for the determination of thermal
endurance properties of electrical
insulating materials

Part 3: Instructions for calculating
thermal endurance characteristics

Section 2: Calculations for incomplete
data: proof test results up to and
including the median time to end-point
(equal test groups)

Korean Agency for Technology and Standards
http://www.kats.go.kr



KATLS”

MASAXAE P |s2FH

Korean Agency for Technology and Standards
Ministry of Trade, Industry & Energy

o 7) 369811 =5 =4 UEH O] 5 03
TEL : 043-870-5441~9 http://www.kats.go.kr




